
Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED Wal14  |  Wall Mount  
WFA: White Frost Acrylic
I N S T A L L A T I O N  I N S T R U C T I O N S 

10-29-2021

21 of

	Ū Start all fixture row mounting from left to right.

	Ū Depending on construction, reinforcement may be required behind walls at mounting locations.

	Ū For power feed location, use horizontal handy box or flex conduit direct into fixture.

	Ū For Continuos row mounting see layout of rows for dimensions.

NOTE:  Refer to mounting hole dimensions (see page 2) for fee K.O. and support hole locations.  
3˝ wide housing must be installed over flush mounted 4˝ square box with plaster ring,  
flush mounted single gang electrical box or flexible conduit directly fastened to 7/8˝ K.O.

1.	 Remove screws, end lens strap, lens and LED cover from fixture.

2.	 Mount first fixture to wall with support hardware (provided by others).

3.	 Place adjoining fixture against end of secured fixture. Loosely mount fixture to wall.  
Secure fixtures end to end with #8-32 x 1/2˝ screws and hex nut provided.  
Use 1/2˝ chase nipple (provided by others) for through wiring. 

4.	 Attach left and right finish end plates with #8-32 pal nuts provided.

5.	 Make all wire connections in accordance with all local and national electrical codes.

6.	 Replace LED cover, lens and lens end straps (end of row only).

7.	 Discard center end lens straps and replace with joiner facia band (provided) and #8 x 3/8˝ existing screws.

G E N E R A L  N OT E S

F I X T U R E  M O U N T I N G

4˝ Square Box with Plaster Ring, 
Single Gang Box or Flexible Conduit 

(BY OTHERS)

#8 x 3/8˝ Screw
(Joiner Facia Screw)

Lens

Hex Nut

#8-32 x 1/2˝ 
Screw

End Lens  
Strap

#8 x 3/8˝ Screw
(End Lens Strap)

LED Cover

Finish Plate

Joiner Facia  
Band

DISCARD

#6-32 x 1/4˝ Screw 
(LED Cover)

4˝ 

615/16˝ 3˝  
HOUSING

4˝  
SQUARE

J-BOX

13/4˝

3/4˝
73/32˝

72°

JOINER FACIA BAND

1/16
˝

Pal Nut

Support Screws 
(BY OTHERS)



Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED Wal14  |  Wall Mount  
WFA: White Frost Acrylic
I N S T A L L A T I O N  I N S T R U C T I O N S 

10-29-2021

22 of

M O U N T I N G  D I M E N S I O N S

℄

℄5˝

5˝

18˝ or 24˝ 18˝ or 24˝

18˝ or 24˝

10˝

5˝

5˝

36˝ or 48˝

26˝ or 38˝14˝

72˝ or 96˝
26˝ or 38˝ 26˝ or 38˝

5/16˝ Mounting Hole

7/8˝ Wiring K.O.
℄

24˝

41/8˝

5˝
21/2˝ 5˝

2 FT:

6/8 FT:

3/4 FT:

WIRING:

0-10V (+) : PURPLE 0-10V (-) : GREY

DALI (+) : PURPLE DALI (–) : GREY 

EcoSystem DALI (+): PURPLE EcoSystem DALI (–) : GREY

HOT : BLACK

NEUTRAL : WHITE

GROUND : GREEN

CONSTANT HOT (EM) : RED


